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@ 2 —dx+4=(x-2)?

© x2-Tx+12=(x-3)(x—4)
© x> +x-12=(x—4)(x+3)
® x> -x-30=(x+5)(x—6)

@ x*+2x-48 = (x—6)(x—18)
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® (x+2)(x-2)

@ (x+2)(x+1)

® (x+2)?

@ x(x+1)
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@® 4da(a-b) @ 2ab(a-3) ® a(a-b)

@ 2a(2a - 3b) ® 4a>(1 - 6b)



5. x+y=V3,x-y= V2 4|, x® -y +4x -4y 9] FL-& F5H?

O V6442 @ V6-4v2 ® 2vV6+ V2
@ 3v6-2+v2 ® 4V6-5v2
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7. Ax?—d4dxy-10y*> =(3x+ By)(2x + 2y) & o, AB ¢] 3t Fotofet.
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@ ab+1)+(b+1)=(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)?
@ +dx+4-y?=(x+y+2)(x-y+2)
@ (x+2y)% - (3x—2y)% = —8x(x - 2y)

® (x-3)?2+2(x-3)-8=(x+1)(x—-6)
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@D 2x+1 @ 2x+3 ® 341

@ 3x-2 ® 3x+5



11, X% —y? +4yz — 422 & AIFEostH ey
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@D 25x2 — 20xy + 4y? = (5x — 2y)?
@ ax? +2ax+a= (ax+ 1)

1, 1 92_(1 3>2
©9a +gab+ pb? = {ga+ gb
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@ x 3x+9— x-3

® (xy)? +22xy + 112 = (xy + 11)2
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O -2x+3

@ 3x-1

@ 2x+1

® -3x+1

® -2x-5
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@) (x—y+3)2 ® (x+y—3)2

® (x+y—i—4)2

D (x+y+3)?

@ (x-y-3)°



20. (2x+1)*-(x-2)° = (3x+a)(x+b) & W, a+3b o] Gk F5HA?

@® 4.5 @ 6 ® 7 @ 8 ® 9
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(x+2)(x+4)(x+5)(x+7)+a




22. -9 +4x+ 12y A2 (Ax+ By) (Cx+ Dy +4) 7}
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a®+2ab+b%>-a-bE QA5

@ (a+b)a+b+1)
® (a-b)la-b-2)

® (a+b)a+bh-2)

@ (@a+b)a+b-1)
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